
Installation instructions

Congratulations on your purchase of our Kingpin Telescopic Flagpole Mount.  Please follow the instructions

below to assist in the installation of your mount.  Installation requires 2- 9/16th box wrenches, Sockets or

adjustable wrenches.

Your Package includes: Figure 1.

1 -   Kingpin telescopic flagpole mount. Insert into Kingpin

1 -   Pinbox Anti rotation Bracket.

1- 3/8 x 2.5 inch hex bolt. Ant-Rotation Bracket

1- 3/8 x 4 inch hex bolt .

3-   3/8 in hex nuts Hitch Pin

2 -  3/8 in lock washers

4-  3/8 in fender washers

1- 5/8 in hitch pin and spring clip

To install the Kingpin Telescopic Flagpole Mount

1. Insert the end shown in Figure 1. above into the Kingpin.  Once this is Inserted secure the mount by

inserting the included Hitch pin and spring clip. ( a locking hitch pin may also be used to prevent theft

of the mount)

2. Place the Adjustable anti-rotation bracket on top of the Kingpin telescopic flagpole mount and move it

into a position that is snug to the Pinbox. The Bracket can be placed either direction just so that the

spacing between the catch plate and bracket is close( due to the many manufacturers of pin boxes

there might be some spacing between Pinbox and bracket.)

3. Once Adjustable bracket is positioned,  insert the included 3/8 in x 2.5 in hex bolt and fender washer

into one of the matching holes in the Kingpin telescopic flagpole mount.  Secure the hex bolt and

washer with the included lock washer, fender washer, and hex nut from the bottom.  Do NOT

overtighten.  There might be some movement due to the many varieties and styles of pinboxes.

4.    Insert the included 3/8 x 4 inch hex bolt and 1 fender washer and 1 of the hex nuts into one of the

holes in the vertical flange with the head of the hex bolt facing the Pin Box.  Make sure the the selected

hole is above the catch plate.  Place the remaining Fender washer, lock washer and hex nut on the

Opposite Side of the flange.

5.    Slide the 3/8 hex bolt until it makes contact with the pinbox. Once contact is made then tighten the

hex nut so that it is putting pressure on the flange while the head of the bolt is in contact with the pinbox .

(this should be snug but not so tight as to bend flange).  Using the remaining fender washer, locknut and

hex nut tight the hex bolt to the flange. See pictures in figure 3 below for a reference.



The telescopic pole mount should now be secure to the kinpin and ready to use.  Simply insert your

telescopic flagpole into the mount and enjoy.

For storage simply remove hitchpin and sping clip and reinstall in the holes.  The alignment of all parts

should remain for reinstallation.

Pinbox

Figure 2.

Catchplate

Fender washers Kingpin

3/8 x 4in hexbolt

Hex Nut

Figure 3


